Iterative X[0] stage divide evaluation

Fc FDIV stalled in RD-stage while Fb FDIV X[0] iterations execute

Fe issue stalled by FPU, and Fb FDIV stalled in RD-

FDIV.s FO, Fl, F8 stage while Fa FDIV X[0] iterations execute

FDIV.s F2, F3, F9

FOIV.s F4, FS5, F10 |:| CPU pipeline {only} instruction

' ! Internal structural hazard (functional block busy):
Stall Fb FDIV until Fa FDIV enters WB-stage E CPU pipeline stall or no operation
External structural hazard (RD-stage full): - CPU -> FPU pipeline instruction
Stall Fe FDIV until Fb FDIV is dispatched from RD-stage
- FPU pipeline operation

- FPU pipeline stall



